..........

Cu10 + 50

Uncontrolled
Speed
Active

Safety
1
2

Espulsori a gas - Gas ejectors - Federnde Drucksticke
: Ejecteurs de gaz - Eyectores de gas - Ejectores a gas

W Fod —
____________________________________________________________ — -
____________________________________________________________ SPELCIMAL SPRINGS
GMo [ FCA
—
9 i

Uncontrolled
Speed
Active
Safety

1

2

Over
Pressure
Active
Safety

Cu 60 =125

' SEALING RO
DESIGN

1 Dual ring seal

2 Rod seal

3 Body

4 Valve

5 Force color code

Special Springs



, —
o

SPECIAL SPRINGS

RANGE CHART

Model | Body

Stroke Initial force N\ /7 /O
Cu o é‘ @ © ) \O
mm | jch | daN | /b | OSAS | USAS | OPAS | SKUDO |

NE16x15 M16x15 M16x15!
NE6x2  M16x2 M16x2
NG16x15 M16x15 M16x15
NE24x15  M24x15 M24x15
NE24x15 M24x15 M24x15.
NG24x15 M24x15 M2x15
NG24x15  M24x15 M2x15

10-125 039-
10-125 039-
394 3-42  7-95 -
10-50 0.39-197 ‘
60-125 236-
10-50 0.39-
394 N-170  25-382 0 -

10-100 039

60-100 236

49 3-42  7-95 1 - N - -
49 3-42  7-95 1 - | f

49 N-170 25-382 1 -
197 -0 25-382 -

H V H
v
17 -0 232 -y L - -
v
v’
4

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

[ Codice C|I|ndro autonomo |
' [0 Self-contained cylinder code |
- [=T=H Kode des eingestindigen Gdf. |
- =M Code du cylindre autonome |
- == Codigo del cilindro autonomo |
Codigo do cilindro autonomo

Special Springs

Z3/HOW TO ORDER

,,,,,,,,,,,,

,,,,,,,,,,,,

! - Identificazione delle forze iniziali (vedi tab. “force color code"), se non specificata, si

intende sempre forza massima YW. Per forze diverse BK + Fo richiesta.

=1 Identification of initiali forces (see "force color code" chart), if not specified, it is

always intended as maximum force YW. For different forces BK + Fo required

- [=T=H Identifikation der initielles Kraften (siehe tabelle "force color code"), wenn nichtauf- |
‘ gestellt, es istimmer verstanden als maximaler kraft YW. Fiir verschiedenen Kraften,

BK + Fo gebrauchte

== W Identides forces initielle (voir tabelle "force color code"), si non specifié, on entend

toujours force maximale YW. Pour forces différentes BK + Fo requise

i == Ildentificacion de las fuerzas iniciales (veer cuadro "force color code"), si no se especifi- |
‘ ca, se entiende siempre la maxima fuerza YW. Para fuerzas diferentes BK + Fo requerida ; :
- = il \dentificacéo das forcas iniciais (ver Tabela "force color code"), se ndo especificado, | :

¢ sempre entendido a maxima forga YW. Para forcas diferentes BK + Fo inquérita

- .
.
.
.
M



*F1j= **Flp= |

=
= Y
! -3
w|] -
2%

=
£
i}

M16x1,5

%
\— M6 charge port

cod. 39CM
(optiona

01A
)

S17

—;

PPttt (ol il il

Isothermal Polytrophic
7777777777777777777 3 end force E@ p 16 @] end fOrce 3
ACTIVE  2100%Cu at100% Cu |
SAFETY
| RS
. H| H
: —
USAS
TET AP Pmax  Pmin
- o o~ | 150bar |  10bar
176 80 1 + 0,33 %/°C ;

P fmm | inch i mm | oinch | mm i inch

2175psi | 145psi

0134

0.53

S | SPM MaxSpeed
0,28 cm* §~50-100 Co18mis

{ 'NE16x15-010-B-... 10 039 65 25 55 217 |
: INE16Xx15-020-B-... 20 079 ' 8 335 65 25 |
i INE16Xx15-030-B-... 30 118 | 105 413 | 75 295 |
{ NE16X15-040-B-... 40 15 | 125 492 8 335 |
: INE16X15-050-B-... 50 197 | 145 571 | 95 374 |
! NE16x15-060-B-... 60 236 165 650 105 413 |
: INE16x1,5-070-B-... 70 27 | 185 728 | 115 453 |
{ 'NE16X15-080-B-... 80 375 205 807 125 49
{ NE16x15-100B-.. 100 39/ 245 965 M5 571 |

| bar
L 12
)
%0
75
;150

P

L psi
-
290 |
580
1088 :
2175

Fo

Maintenance kit

Disposable

Initial force F1i

110150 150175 342 795

P = nominal charging pressure

F1

- =% Endforce* [End force™
| 120°C 468 | 1 1
LdaN | b ; ;
4 9 156xF0 2,03xF0
6 14 156xF0 203xF0
1 25 156xF0 203xF0
21 47 156xF0 2,03xF0
£2 9 156xF0  2,03XF0
1,56 x F0 : 2,03 x F0
I
$flHow TO ORDER

(10 pcs) NE16x1.5-050-B-YW

Special Springs

.
. -
.
.
.
.
M



1

SPECIAL SPRINGS

06 *Fiy= **Flp=
0.21 Isothermal Polytrophic
‘ ‘endforce OCF p.16 <O endforce |
I F Rl AOMEY AGTIVE
‘ e - SAFETY
| . |
|
| i NE
‘ of e NG
) ‘ e cod. 39CMOTA P
al ‘ . 1 | :
8= _ | (optional) | | *\
- : |
E ‘ 17 | |
| 3 |
‘ M16x2 A i USAS
|
|
|
. 1;4\ M6 charge port
0.53 s
P T M T e M e e g
| E o B o ogwec OB 0t 028om S0-100 Disposable
CODE e P Fo |

o +5% I Dt
; ; ‘ ; ; ; | | | ; ; :End force* {End force™; :
 NE16X2-010-B-.. | 10 039 . 65 25 | 55 2 97005 011 v T bk o ‘ ‘
 NE16x2-020-B-.. | 20 079 8 335 65 25 006 013 v . bar ¢ psi idaN: b |
NE16x2-030-B-.. . 30 7718 | 105 413 | 75 295 . 007 015 v | ‘ ‘ |
 NE16Xx2-040-B-.. | 40 157 | 125 492 8 335 007 015 v GR 20 29 6 14 156xF0 203xF0 i
NE16x2-050-B-.. | 50 197 | 145 571 | 95 37 . 008 018 v . BU 40 580 1 25 156xFo 203xFo  :
 NE16Xx2-060-B-.. | 60 236 | 165 650 0 105 473 008 018 v . RD . 75 1088 21 47  156xF0: 203xF0  :

v o

v’

v’

4

PR 12 17 4 9 156xF0 203xF0 |

i NE16x2-070-B-.. | 70 276 ¢ 185 726 ¢ 115 453 1 009 020 YW 150 2175 42 95 {1,56xF0 | 2,03xF0 ; :
- NE16x2-080-B-.. = 80 375 ' 205 807 125 4920 010 02 v i BK  :10-150 4521%5: 3-42 795 : 1,56 X F0 : 2,03xF0 :
NE16x2-100B-. 100 39 245 965 145 571 | 011 024 :

. NE16x2-125-B-.. : 125 492 | 295 7161 : 170 669 : 012 026 i v P =nominal charging pressure

2How To ORDER

(10 pcs) NE16x2-050-B-YW

Special Springs 018 - 31§

.
.
.
.
M




NE 24X 5-010-B-...
‘NE 24x1,5-020-B-...
§NE 24x1,5-030-B-...
NE 24 x 1,5-040-B-...
NE 24 X 1,5-050-B-...
NE 24 x 1,5-060-B-...
NE 24 X 1,5-070-B-...
NE 24 x 1,5-080- B-...

SPECIAL SPRINGS

cod. 39CMO1A
(optional)

S17

At i ) s

. Isothermal Polytrophic
7777777777777777777 3 end force E@ p 16 @] end fOrce 3
ACTIVE  2100%Cu at100% Cu |
SAFETY
S
w4
|}
OPAS
TET AP Pma P min
3 - | 150 bar 10 bar
g - +0,33%/°C | 150
176 0 | * 3 2775pS/

NE24X1 5-100-B-...
' NE 24 X 1,5-125-B-...

039 | 65
079 | 85
118 | 105
157 | 125
197 | 145
23 ' 165
276 | 185
315 | 205
394 | 245
492 | 295

55 217
65 256
B 295
8 33
% 37
105 413 |
15 453
125 492 |
145 571 |
170 669 |

012
.47
5 i
© i
i ~|3
| WS
| i
| 2|8
|
- i
| M24x1,5
|
i
i
i
\—M6 charge port
0217 gep
7.85
) - SPM Max Speed:
113cm:  ~50-100 :
 (@20°0) 1,8 m/s

‘ | Initial force |

Maintenance kit

Disposable

Fo

e Fy o F1p

; ‘ {End force End force*™*
016 035 v ; ‘ | +20°C +68°F‘ : :
018 040 v ' bar | psi idaNi /b | ‘ i
020 044 v GR @ 20 290 : 23 52 @ 185xFo0: 2,53xFo0
023 041 i v BU : 40 580 : 45 101 § 1,85xF0 : 2,53 xF0 :
025 05 Ly RD : 75 7088: 8 191 : 1,85xF0 : 2,53xF0 :
027 059 : v YW 150 2175 1 170 382 1,85xF0 | 2,53 xFO |
029 064 v . BK 10-150 145215 11-170 25-362 1,85XF0 _ 2,53XF0
030 066 : v
033 073 v
035 077 v P nominal charging pressure

HOW TO ORDER

(10 pcs) NE24x1.5-050-B-YW

.
. -
.
.
.
.
M

Special Springs



SPECIAL SPRINGS

39D 549 (VW)

06 *F1.= **F1 =
0.24 . P
R : Isothermal Polytrophic §
; ‘endforce OCF p.16 <O endforce |
i : 0 0
a2 | T ] a100%Cu - pGTIVE
| -3 - SAFETY
- 3
i
- - NE
| N gl ottt
815 : cod. 39CMO1A :
k| K- i (optional) iﬁ
E ! S17
: M16x 1,5 T USAS
i
i
|
&
0 13} M6 charge port B
i 1sw
of T T AP Pmax | Pmin s SPM  MaxSpeed  Maintenance kit |
] < 2o on | 150 bar 10 bar 028cm?> | ~50-100 ‘ .
L @ o VW amey | veps | Ovsiw | eowy | MR WOR
. Cu L | Lmin —— Force; P | Fo
| PED  color nitial force Fi,  Fi
: : ¥ ‘ 5% | : .
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,m,m,,,,,[n,vﬁ,,,,,mm,,,,,!n@ﬁ,,i,,mm,,,,,fﬁ,@ﬁ,,v,,:,K,g,,ﬁ,,:!b,,,i,2,'?7,“?,/,[,",)‘ code | Edone B
NG16X15-010-A~.. 10 039 80 315 70 276005 01l | v I j |
NG16x15020-A-~.. 20 079 100 3% 8 315 006 013 v | bar | psi idaN: b | |
‘NG 16x1,5-030-A—...§ 30 7118120 472 90 35007 015 v GR =20 290 6 13 139xFo 167xF0 !
'NG16x1,5-040-A-... 40 757 : 140 5571 100 394 007 015 0 v BUD : 40 50 1 2 51,39xF0 167xF0 ¢
'NG16x15-050-A-... 50 797 : 160 630 : 110 433 : 008 018 | v RDO 75 1068 21 47 - 139xFo 1,67xF0 = :
'NG16x15-060-A-... 60 236 @ 180 709 : 120 472 008 018 Vv YW 150 275 42 94 139xFo 167xFo i
'NG16x1,5-070-A-... 70 276 | 200 787 + 130 512 1009 020 v i BKE 1050 #5275 382 795 139xF0 | 167xF0 _ |
'NG16x1,5-080-A-... 80 375 | 220 866 140 551 000 02 v
NG 16x1,5-100-A-... | 100 394 i 260 10.24: 160 630 : 011 024 | v | P nominal charging pressure
[$fHow T0 ORDER

Special Springs

(10 pcs) NG16x1.5-050-A-YW : :

.
.
.
.
.
M



*F1j= **Flp= | 012

Isothermal Polytrophic 01‘47
”””””””””” “endfoce 05 p.16 <0 endforce | ‘
ACTIVE | 2 100%Cu at 100% Cu | 5 |
SAFETY | .
P
|
\ wl& o
[TeJESs]
™
g ‘ cod. 39CMO1A
E s | (optional)
- | $17
| M24x1,5 1]
‘ R il )
|
|
|
OPAS %
\7 M6 charge port /:&::—,;—,—7 "
0217
0.8 Tlsw
o TERT B Rm RSP s Sannd aonanca il
H | | | : 1 , : ] : i
. 2 g § g xomwrc  oora b BER -0 tems Disposable

P Fo

i 45% - :
1 { End force* iEnd force™*;
3 | +20°C +68°F | ‘ ‘

| bar | psi idaN i /b | : i
GR 20 290 : 23 5 :155xF0:2,02xFo :
BULCD @ 40 580 @ 45 7107 i 1,55xF0 : 2,02xF0 :

P ING24x15-010-A-.. 10 039 80 375 70 276 | 015 033 v
ING24x15-020-A-.. 20 079 0 100 3% 80 315 007 0% v
P ING24x15-030-A~.. 30 118 0 120 4720 90 35 1 019 042 v
{ING24x15-040-A-... 40 157 | 140 551 0 100 3% 022 049 v
: ING24x15-050-A-.. 50 197 | 160 630 10 433 024 053 v
‘ ‘ N RDE - 75 1088 85 197  155xF0 2,02xF0
v YWE | 150 2175 170 382 | 155xF0 | 2,02XF0 |
v BK I | 10-150 7452175 11-170 25382 1,55 F0 | 2,02 Fo |

v

P = nominal charging pressure

i NG24x15-060-A-... 60 236 i 180 709 i 120 472 026 057
: NG24x15-070-A-... 70 276 | 200 787 | 130 512 | 028 06 |
i ING24x1,5-080-A-... 80 375 | 220 866 140 551 | 029 064 |

2 How TO ORDER

(10 pcs) NG24x1.5-050-A-BR

§34 -018 Special Springs

.
.
.
.
M




